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CCSS: 5" grdde Madth Review Skills #1

o [S5x (42 —18) Write the expression. |12 + (4%) - |l
£ Pivide 15 by 3, then add
Q
%'g' /3
&=
c
1
©
[
a
(S
@ |Findthe place value and | Circle the greater 143,456.819
-,:__2’ vdlue of the underlined | number. Round to the nearest
S g\ digit: 3,/32.685 tenth.
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s |L*1= Multiply. Divide; then show d
:_c_i 3 06 A model 4t + |
§g 4 3
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Find the volume. Convert. Create a line plot on the
% 6cm. back; then find the total of
3 8tin = £t the following
E sem medsurements.
] lced Tea (qt.):%, %, Y, %, %,
?5, 700cm. = ______ m Y Vs, Va
2 2 cm
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Identify the polygon. Draw an equilateral Plot: A (5,%) B (0,2)
triangle. C (1,5) D (%,0)
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o |Write the expression. (15-5) x [(9x3) + 3] ldentify the pattern.
g Subtract t from 20, Write the next 3 terms
%"2 then divide by 7 in edch sequence.
<t 0,7 1% 2 ..
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@ |311.507 + 5%.67 10T = Write in expanded
2 form: 3,%50.56
5§
Q-
Sy 0 x 10°=
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E t8.65 + 107 =
5 |2- 8= Multiply. Divide; then show a
s [t 8 bx1 model. |+ 3
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Find the volume. Convert. Create a line plot on the
~3 10 ft. back; then find the total of
3 ayd. = in the following
= 5Pt medsurements.
g Yarn Lengths (ft.):%, %, %,
a ISKm=______ m Ya, Yo, Yo, Ya , Ya
§ T ft
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What is the definition of | Draw a scalene Graph: x + 1=y
d polygon? triangle. X Y
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45 — [(S x 3) + 3]

Write the expression.
Add 9 and t, then

7x 10+ 3 x 30

value of the underlined

Round to the nearest

K
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Ze multiply by 7
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Find the place value and 243,456.819 Circle the greater

number.

2
g
?,g, digit: 4,567.87 hundred thousand.
Sg 42,235,409 54
;g PV
EE t2,32%,409 43
5 V:
s |V
s |2T1= Multiply. Divide; then show d
:_c_i 8 % 7 x4 model. 3 =+ |
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o | Solve for x. V=180 cm?® | Convert. Create aline plot on the
5 10cm. back; then find the total of
3 6% 000 Ib = T the following
£ ’ I measurements.
2 X Sliced Turkey (Ib.): 1%, 1,
4 SKg. = ______ g 1%, 1Y, 1, 1%, 1%, 1, 1%
§ 2 cm
>
Identify the polygon. Draw an isosceles Plot: A (3,3) B (6,2)
triangle. C (1,7) D (6,0)
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OPerations & Aldebrdic
Thinking

Write the expression.
Add 7 and 11, then divide
by 7

27+ {[Ix (5-2)] x 3}

ldentify the pattern.
Write the next 3 terms
in each sequence.

77, 66, 60, 51...

@ |Draw an area modeland | Write in expanded 106 =
2 |solve S6x 78 form: 7,3%5.65
£§
S 87 65 + 10° =
<4 8
w» M
f,g-,.s
5 67.89 x 10% =
s |2 - 1= Multiply. Divide; then show d
s |6 1 3x10 model. | + 4
§g S 12 3
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o | Solve for x. V=105yd® | Convert. Create a line plot on the
5 X back; then find the total of
3 0l oz. = Ib. oz | the following
E d T T medsurements.
g 5 ya. Bag of Grapes (Ib.): 21,2,
4 5,00g=______ Kg 2%, 2V, 2, 2%, 24, 3, 25
§ Syd.
T
What the attributes of | A triangle has the Graph: x + 2 =y
a rectangle? following lengths: 10 X Y
- cm, 6 cm,and 't cm. ; |
£ Which type of triangle | s 2
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